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T 8,000
¥ 8,900

i

T T # 40 frex qu @ | il A 4 e qu P

T IEH I 4 fr e s R | T @ S
A 7R 3 R T | e wdw A R qu @ T ?

28 forex

29-16 ferex
26-34 forex
27-36 &

I 7 3 =T

(1)
(2)
3)
(4)
(5)

A BR 30% it Fv@ ¥ | A T W FW FA
o @mﬁwm&iMWﬁ,mﬁaA

m“ﬂ'ﬁﬂa23ﬁqﬁwﬂmt?

@ 05 %
15951_
uf=
13

3T T 31 =TE

(2) :
@)
(4)

(5)

1.

A, B and C invested T 80,000, ¥ 40,000 and
Z 80,000 respectively in a business- A left after
six months. If total profit after eight months 18
¥ 40,050, then what is the share of B in the

profit ?
(1) % 5,000
(2) 9,000
(3) % 8,000
@

(5)

Z 8,900

Not attempted

A container contains 40 litres of milk. From this
container 4 litres of milk was taken out and
replaced by 4 litres of water: This process was
repeated further two times. How much milk is

left in the container ?
(1) 28 litres
(2) 29:16 litres
(3) 26-34 litres
(4)

(5)

27-36 litres

Not attempted

A is 30% more efficient than B. How much time

will they, working together, take to complete a
job which A alone could have done in 23 days ?

20 3 days

1
(1) 17

(2) 15 days

(3) 11days
(4) 13 days.

(5) Not attempted
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- . 11 at
. lls comme . her and to
R sy, Six be nce tolling toget
4 Yz, 6 ¥FTE, g 10 2 W, | 4. intervals. of 2 4 6 8 I seconds
: mmuﬂm@% R o imes do
T AN 30 g LR | respectively In 30 minyeey pow many tim
sl am aih RS | e i el together 7
1 15 16
(2) 186 (2) 16
(3) 4 3 4
4) 10 4) 10
(5) I ¥y (6) Not attempteq
; 8.  LCM of two prime numbers x and y (x > y) is 161.
&mm:ﬂﬂ(y(ny)m LCM, 161 2 | The value of (3y - x) i
3y - ;
Y-x)F AR} . @O 1.
1
b 1 @ 2
2 2
) @ -2
@) -2
4) -1
@ -1 & R
ot attempted
B) I 7 ¥ =y d
6. Ifm=-4 angd N =-2, then the value of
R m=_4g aq n=-2 § @ m3—3m2+3m+3n+3n2+n3is:
m3—3m2+3m+3n+3n2+n3‘ﬂﬂﬁﬁm (1) -126
(1) -126 (2) -128
(2) -128 3) -120
3 =120 W ~ 124
(4 -124
(5) Not attempted
(5) IR 4 2 9mRl
1
1 & 1 . If 3718 0-2689, then the value of 006;37
= =02689 §, : ; 18
3718 & 00003718 ' t is :
(1) 26890 (1) 26890
(2) 0-2689 (2) 02689
(3). 2689 (3) 2689
(4) 2-689 (4) 2-689
(6) I 7 2 =
(8)  Not attempted
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' * 8. The prine; . o
8. q:mﬁ'[ ﬁﬁ 3 aﬂ ﬁ 6:1.% !Iﬁ aﬁ aﬁ& Sl -&?[ (4 B nclpal that_ amounts to 7 4’913.111 3 ye
i ¥ o 2 SZ% Per  annum compouﬂd interest
q{‘ﬁiﬁim mﬁ*t,?-4913ﬂ ! o
’ mpollllded annu ﬂ“y o s
¢ (1) 74,085
(1) 4,085 @2 = 4,008
(), - ¥ 4090 (3) 3,006
(3) ¥ 3,096 4) 74,07
) T4 (6) Not attempted
(5) IWCTE & =R 'l g ’ _ .
’ Sum was invested at simple interest &
9. U gy H feht wuww s ) www 3 ¥ fere certain rate for 3 years. Had it been invested at
fraw fF | AR 8 vl HI, 3 @@ % fore 1% higher rate of simple interest for the same
1% it WU | H w | Faw fw S, @ . time,- it would have fetched ¥ 5,100 more. The
78w T 5,100 A ifa wedt | g8 R R sum is :
(1) % 1,550,000 . (1) ¥ 1,50,000
(2) ¥ 1,70,000 (2) ¥ 1,70,000
(3) ¥ 1;20,000 3) % 1,20,000
(4) ¥ 1,25,000 (4) ¥ 1,25,000
(5) IR TE & =TEQ (5) Not attempted
' : & ' ight-angled triangle
10. Wmﬁﬂ“ﬁﬁﬂmﬁm,@ﬂgﬁl’lﬁl& '.I'heh'angt.hofonemdeofanghaqg_ P
: . is twice the length of the other side an e
WﬁﬂQﬁ%HﬂTmﬂfiﬁmﬂmﬂd’rg!ﬁgﬁﬂ length of hypotenuse is 10 cm. The area of the
ot ' triangleis : |
kg (1) 40 cm?
' il ﬂ'lﬂ (2) 50cm?
@ 20t @h % i
1
(4) 33§a1fﬁrﬂ @ 33%0 2.
(5) IO E & AEd .
PR (5) Not attempted
- MW@ ﬂﬁﬂﬂ:&mﬂm o Bq-ga& 3 ﬁ;: ;ZT 11. In covering a certain distance, the speeds of A
tzmlA HF““ trgairﬁ and B are in the ratio 3 : 4. A takes 30 minutes
30_&12 T AL TR A o more than B to reach the destination. The time
R taken by A to reach the destination is :
1) 2% (1) 2 hours
(2) 2‘21' w2 (2) 2% hours
3 19a (3) Thour
(4) 1% % (4) 1-:13 hours
(5) I A ¥ = (5) Not attempted
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The ratio of milk to water in

faso 7y 3k
2. @ 80 Ky IR A9\ 7 1112 . ) od
: ﬁwimm(ﬁaﬁ)mmm?ﬁzﬂ mixturm“23-Thewater(inlxms)wbef'dd
ﬁ@aﬂt‘ﬂ‘ﬁ*‘mﬂz 18 5 2 wittemaketheratioofmjlktowaterZ:llB
1 6 1 6
2 8 @ 8
3 4 3 4
4 5 4 b
(5) I E &M =R (5) Not attempted
ol % aﬁq'mq;& o Sy , 4 M. @gA W|y3, The dimensions of a rectangular floor of a room
;:;l?ﬂi E oy ;1:74 ‘ﬂw. RN 2: 1% o 3 when increased by 4 mefres become in the ratio
! el T 4 : 3 and when decreased by 4 metres become in
1) 187 x 227 the ratio 2:1. What are the dimensions of the
2) 187 x 24 floor of the room ?
@) . 127, x 8t ' (1) 18mx22m
. w8
(2) 18mx24m
4) 16#. x 124
(3) 12 m x 8m
Ul () 16mx12m
(5) Not attempted
14. R J2 =14142%, @ mg . |
14. If V2 = 1-4142, then Bl s
(1) 04142 _ V2 +1
. 1 O34 @) 04142
(3) 0732 (2) 0-3652
(4) 13142 (3) 0732
(5) I AR &1 =EA (4) 1-3142
: (5) Not attempted
15. ﬂﬁabcﬁlmMmab+bc+ca-Oiiﬁ :
a2, b, A% ¢ 15. If the average of a, b, ¢ is M and ab +bc +ca =0,
1 eMm® then the average of a% b?, ¢ is
@ oM® 1) eM*
@ M @ oM’
@ M @ M
2
MARA/C2/Page 5 (5) Not attempted
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17. Fefofed # & FH-TR s werd e

16. A

Hﬁﬁﬁnﬁ;&maaaﬁw@*ﬁ"ﬂ
?

(a].wmﬁﬁ%miﬁmtl

b e T FE vy e e |

© wH W T Tmhe g dgeAne
St T 8 9o i R |

#3 R g ¥ 8 TR Rwey w1 w9 ffw

(1) (b) T (c)

(2) %ad (a)

(3) (a)@(b)

4)

(5)

(a) @91 (c)

I TE &

*
! & faw & wd % 2 |
(a) FicTes U fawwift fysor @ |
(b) V¥ Fiige F WA B a1 W ¥ 7w few

17.

about compounds 7

(@) It shows the pro

Pertieg of .
substances, of the constituent

(b)  The composition 0

f each new s b, i
always fixed. Wtance gy

(b) and (c)
Only (a) .
(a) and (b)
(a) and (c)
Not attempted

Which of the following statements is/are correct
about the properties of a Colloidal Solution ?

(a) A colloidis a heterogeneous mixture,

(b) The solute particles settle down whep

1 71 W 4R § arwi Feies s 9 8 | e e left id eturbed, heoes, el
(c) WHelgE 3 93 B ¥ % yow B T =i ~(¢)  Colloids are big enough to scatter a beam of
mmiwmmﬁaﬁqwmg| lightpassingthroughitandmakeitspa
‘ visible. i :
ﬁﬁqmwﬁﬁuﬁmﬂwwz Choosethecorrectoptionfmmtheeodeégz’ven
1) GmeE ' - - |
2) Fa€(a) (1) (b)and (c) #
3) ()@ (b) 2) Only (a)
(4) (a)@¥m(c) (3) (a)and (b)
(5) I T 3 = (4) (a)and (c)
: : ' (6) Not attempted
18. 683 UYH fhen qreml ¥ Fren frem avit F fag :
PHS , : 18. ich film won the ‘Best Film on Social Issues’
Roen wi T A i R e e ‘z;uard in the 68" National Film Awards under
e the feature films category ?
@ Feere (Refén 1 ) (%) (1) Taledanda (Beheading a Life) (Kannads)
@) T (9) () (2) Natyam (Dance) (Telugu)
(3) wden (afd) (3) Mandela (Tamil)
@) wFa (wdh) (4) Funeral (Marathi)
(5) | I T 3 wER (6) Not attempted
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g, S T, T S R e Aiven 3
1945 1 R a1 o, s Ry e

warrt # SR B wfy
FREH dard
w1
I T Yoy

IW AW & TR

(D
(2)
@)
4)
(5).

amwmﬁnﬁﬂ%aﬁﬂ%&{dsﬁmwm
Tg W R ?

(1) weam feeh f
(2) wEYEY IR TR
@) snexifdn

(4) o rag

®) W 7 T =

21 m%mmaﬁqﬁmﬁm@.m
S v § 0

. pemographic Transition’, a concep?

21.

developed by
prank Notestein in 1945, described th:
re[gtionShip between economic devglopment an
S——

(1) Loss of lives in epidemics

2
)]
@)
(5)

Cartographic boundaries
Social crime rate

Death and Birth rate
Not attempted

Which among the following will not be ordinarily
considered an outcome of globalization ?

(1)
(2)
3)
(4)
)

Foreign Direct Invegtment
Multilateral trade agreements
Outsourcing

Tariff barriers

Not attempted

Which of the following industries has the
maximum concentration in the Chhotanagpur

ion ?
1) & =@ (Pll: w:.u 1':181 - Ind
ertilizer Industry
@) siemRTES I 7 (2)  Automobile Industry
(3) = 3, (3)  Sugar Industry
@) e st 3 Ty (4)  Iron and Steel Industry
2. i T 2 -
T 51 % Toa 1 sy vhiy ¥ Way fay § 0 |22 Nataraja is a bropge sculpture in g dancing
S (D) Pposition associated with
@ & D, Kali |
@ 3 (2)  Nandj
@ fia ()  Krishna
® TR i (4)  Shiva
MARA/C2/Page 7 ©) Not attempteq
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Wg‘qﬁimﬁm?? |
W";Mm@ﬁﬁwﬁmﬁm

o @ T
gl :

& @ T A A e A A T |
ﬁm()mﬁmwﬁmaﬁq&ﬁmw
3 ain (we A% ) Ry g ot &

(5) m'—rﬁhm

o Prefifem ¥ @ PR TH wenw e fwew

It is rflised when a local or global variable
name is not defineq,

It is raised whep the index or subscript in a
sequence is oyt of range.

@) It is raised when the requested module

definition is not found,

4) It is raised when the end of file condition is

reached without reading any data by
input (). '

(5)_ Not attempted
(@A) 7 R?
(1) WMDB 24. Which of the following is mot a Database
(2) WEHEIR WHE Management System (DBMS) ?
(3) WESQL (1) MonquB
(2) Microsoft Excel
W sk (3) MySQL
(5) I AE M T (4) Oracle
(5) Not attempted
%.mm_m?ﬁmﬁﬁﬂﬁﬂﬁm .
| I T FA AT A JH AR ? 25. What is the name of the ﬂetworking Topology
1) Ay A where each communicating device is connected to
- vt a central node 7
R, (1) Mesh Topology
(3) ww derieh (2) Star Topology
(4) for ZurEsh " (8) Bus Topology
(5) IR TE ¢ AES (4) Ring Topology
(5) Not attempted
26. Wﬁ%ﬂa—mwﬂhﬂmwm:ﬂ :
29 26. Which of the following is not an example of
: : secondary memory ?
() el (1) Memory Card
& fm s (2) Read only memory
@ o g (WA (3) Hard Disk Drive (HDD)
@4) @& W (4) CDROM
(5) IW A & 1G] (5) Not attempted
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: o 19T : w. 1 ¢ the LB
%aﬁmmﬁﬁiagaa‘mﬁmmaﬁﬁmw' 150 ¢ Firtal TR0, Wrticle of e of the
g1 ﬂ;;z o 2, Frefefiea & & fred e Fan 1ates the provision related to
1 L g I
wing 7
gl W i sct, 2019
1) A E arffam, 2019 @ Ginzens.hlp Amendment At
@ T 74 1 TEA ) Formation of New States i
) e v SRR, 1047 %1 PR " g Repeal of the Indian Independence &5
1947 :
(& o I I | |
(5) TR & 9TEd @) Proclamation of Emergency

(5) Not attempted

gy % WY WHHR WG H A F T IS

. gpeech.
miﬁﬁmﬂmmﬁﬁqﬁf@aﬁgm is a famous .

‘ st with destiny,
2 made by

i]lustrative' of India’s independence

i which of the following members of the
s " (Constituent Assembly of India ?
@ #IA RE | o M
& S = 2 VJ. Patel
(4) .3 FATH - 5 £ N
G s (4 BR Ambedkar
29. mﬁﬁmqumm% (5) Not attempted
i : 99. The study of writings engraved on hard surfaces
G, "SRR | such as stone or metal is called
v: ] JPER - " 4 (1) Iconography
@ T (2) Typography
@ g'uﬂ'ﬂ?lfﬁ (3) Calligraphy
(5) I T A ' (4) Epigraphy

(5) Not attempted
30, ‘Hegw S F HEY R

(1) waeEnst B wres TR % foe W fratem [30- Matdata Junction’ refers to :
| produced by Election

S gra oA T e e (1) radio series
(2) A H ATER T ¥ o @ U R Commission of India for voter awareness.
‘{%?Ff &1 M (2) name of a new railway station to raise voter

awareness.

(3) special polling booth for Divyang voters.

(4) training programme for officials to handle
postal ballot.

Not attempted

(@) fesain mal & fore i e g
(4) trea ¥ B A &g AfwRE & fore
sfveror HRIsH

(5) I € &A1 =R | -

Download from www.MsEducationTv.com



32.

faom fore 1 R B Fraferfian a7 @ ogg T

giee |

(1) I S, 3 g ooy #
@ - a !

(3) | T8 T AR B Tl § g 1 G4 |

@) gmmi%nmﬁgmw
| .

(5) I & 2 TR

‘Wit g w1, araf Iaig w4,
et T iy i, sheoy Fam R 7
Iw T e AR w1 REw R ?
1) W

(2) wifeum

(3) W

(4) © &

() T A TN ="

fau e form weg & vl oM g R 2
(1) &/

(2) "X

(3) =R

(4) ®ZEN

(5) IeR I & @S

(2)

@)

(4)
(5)

35. W*%Q% : W’fﬂ%
1y

It

i

ery
W
IR 7 &1

T 2 3 forg walfes o I R

(1)
(2)
(3)
(4)
(5)

o forg vda & 1D & Feperan @
v & g A 4y
e A ¢ & 5

T & W T W
ERECROR

. ‘pew e 98 fawg @ — qedi ® 39 |

I JUTE § AgEY HHH HI BHHT THW 2 ?

(D)

2)
(3)
4)
(5)

A Tegey
FfF T
T T
T e

I TE 2N TR

Tt f 7R & g &, & 99 Hife |

(1
(2)
3)
4)
(6)

fafr
e
sl

TJouyfae
IR T 2N <

MARA/C2/Page 10
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$9. ﬁﬂﬁmﬁﬁ%ﬂﬂ-mm&mw,m@

fere
tﬁmﬁﬂ_il’m*ﬂﬁw%

a2 ? 45 Wﬂmmﬁﬁqﬁgﬁql
(1) T ”
() wHATEC !
@) @ P
(4 faEE %) il
EC)]
(5) IR T &A1 SR =
_ 40. frfefea 3 ¥ e Sfe w1 wand gema 777 2 2 (5) I T & =
(1) e JE e s = e '
@) weh M A T O = owvE wE W WA
X ' ﬁ:mmﬁ%
(3) o 5 @ ward & T =l gg R A WA 4y mqqa—mﬁa;ﬁ;aﬁmim
A duic w e P awa @ e S R ?
' et R W = S f T |
({: lw;:mm% : (€)) fafgad @R @R
| | (@ FaideaTaRE |
|
'- i TR Igar § w4 R T
“" ZT:;wmt? " (3) ﬁamﬁﬁﬁmaﬁﬁi?
) fatgEEs 5 @) AR F I AR R
R (5) < AE & A
@) s
(4) gfoTEEYS
areEd ‘
i = 45. ﬁmﬁ«mﬁﬂaﬁqmﬁﬁxm@m?ﬁ%?
42 ﬁwﬁrﬁaﬁﬁaﬂnmﬁmmmwm @
T R? _.
(1) =@ (2) arnfe @fu
@ W (@) & wft
e (4) v &
(4) ¥ _
(5) I TE oA ITEd (5) I A€ & A
MARA/C2/Page 11 % T % foTu T | SPACE FOR ROUGH WORK
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46. Rearrange the following parts ot a sentence
labelled as PQRS to make a meaningful
sentence. ' '

P. leave no regret are

Q. gained over ignorance

R. the only victories which
S. those which are

(1) PQSR

(2) QRSP

(3) SRQP

(4) RPSQ

(5) Not attempted

Choose the alternative which best expresses the
given sentence in Active Voice.

47.

Kead the following passage carefully and ansy,,
questions 49, 50 and 51.

Tiger is one of the key wildlife species in the faun
web. In 1973, the authorities realised that the tige,
population had dwindled very fast. The major threaty
to tiger population are numerous such as poaching fo,
trade, shrinking habitat, depletlon of prey base specieg
etc. The trade of tlger skins and the use of their bones
in traditional medicines left the tiger pOPlllﬂtlon on the
verge of extinction. Since India and Nepal provide
habitat to about two-thirds of the surviving tiger
population in the world, these two nations became
prime targets for poaching and illegal trading. “Project
Tiger”, one of the well-publicised wildlife campaigns in
the world, was launched in 1973. In India, Tiger
conservation has been viewed not only as an effort to

|save the endangered species but also as a means of

preserving biotype of sizeable magnitude.

Download from www.MsEducationTv.com

It is being read by us.
(1) We can read it. 49. Find out a word from the above passage which is
(2) We have to read it. the antanym of legal"
@ W ding it ol
el L (2) threat
(4) It will be read by us. (3) - extinction
(5) Not attempted (4) faunal
: (5) Not attempted -

48. Read the sentence to find out whether there is| 59, The skin and bones of tiger are also used
any grammatical mistake in it. A : '
Mark the number of the part with error as your (1) to save tiger from extinction
answer. If there is ‘no error’ mark (4). (2) in preparation of food products

- _ (3) asraw material in small factories
The scientist was seemed to be excited (4) _ i tradifional medicines
A . B (5) Not attempted -
_ over the result of his experiment. ,
c 51. The major threat to tiger populations is
(1) B (1) Poaching for trade
2 A (2) Industrialization
3) C (3) Lack of Tiger Reserves
(4) No error (4) No Government policy
(5). Not attempted (5) Not attempted
MARA/C2/Page 12 1% %14 & {70 T / SPACE FOR ROUGH WORK



e
' resﬂ.es th
i : Choose the alternative which bes® A
52 Which of the phrases given below should replace 56- neaning of the underlined idio™- : jent
| the phras® ‘underlined in the following sentence He had 8 hair-breadth escape fro™ the ¢
 jomakeit grammatically correct ? Q) fighting
,[ «She chowed courage in advocating policies which (2 impractical
: were not common acceptability then.” @) very safe
(1) common in acceptability than (4) narrow
() commonly acceptable then (5) Not attempted
@) commonly accepted then '
(4) then common acceptability ° 7. Life history o PR by himself i3 called
(5) Not attempted ' NI ‘
, 1) Calligraphy
3. Choose the most appropriate preposition to fill in @ Bibliography
VlSltDl'S in the ga.rden are p“’hlb“ed (4) Autobiography
SRR (5) Not attempted
(1) for -
@) |g8. Select the word that is most similar in meaning
(3) from to the given word.
(4) with Prosaic
(5) Not attempted :
(1) Cunning
54. Which one is the correct indirect narration of the | @) Patrioti.c-
following sentence ? (3) Uninspiring
He said, “Two and three is five’ (4); Poetic
(1) He said that two and three was five. (5) Not attempted
" (2) He said that two and three were five. P 3
(3) He said that two and three are five. 59. Find qut‘. the correctly spelt word.
(4) He said that two and three is five. (1) thesaurus
(5) Not attempted (2) thesoraus
(3) thasaurus
55. Fill in the blank with the most appropriate | (4) thisaurus
option given below. (5) Not attempted
He was advised _ the seminar without _ :
iesparailon. 60. Find out the correctly spelt word.
(1) not to attended (1) prettentiousness "
(2) to not to attend (2) pretantiosness
(3) not to attend (3) pretantiousness
(4)  to not attend (4) pretentiousness
i e wwd & ﬁﬂ! T | SPACE FOR ROUGH WORK
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61. When was the State Council of Edllcatiuna

61. amn & T MF seum o afwe # _
b ~ Research and Training established in Haryan,

T e R 7
(1) 1960 (1) 1960
(2) 1965 . (2) 1965
(3) 1979 (3). 1979
4) 1970 (4) 1970
(5) I TE & IEA (5) Not attempted
' ; . ap js situated in Whict
R b LU U bt
s (1) Yamunanagar
% e (2) Faridabad
& e | . (3) Rohtak
£ fan , (4) Panipat
Ll - (5) Not attempted
W o 63. Which is the state animal of Haryana ?
L, W (1) Tiger | -
@ (2) Horse
ol (3) Elephant
- (4) Black Buck
) e Y (5) Not attempted

64. ‘mmﬂm%g@mﬁmﬂmm 64. Which fort is known as the Gateway of Haryana ?

27 - | (@ KanodFort
(1) e F fen (2) Maham Fort
(2) wER w fen (3 Gohana Fort
(3) Tier 1 e . | (4) Bahadurgarh Fort
(4) wEGUTg & fepen ~ (5) Not attempted
(5) Iu e N =
. ; 65. Haryana is located around 300 miles North of the
65. wEmm __ & om 300 e I fRm@ R .
(1) e (1) Greenwich line
L2 pEwE (2) Equator
(3) & @i _ (3) Tropic of Cancer
(4) W@ ' -~ (4) Tropic of Capricorn
(5) IR AR & m ; (5) Not attempted o
MARA/C2/Page 14 T % & fo7Y T / SPACE FOR ROUGH WORK
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Rule
z me
66 <ferm 3 & R e 3 yaw 7 i N g6 The credit for propagating the Ho

q) R ' Movement in Haryana goes'to :
) T | (1) Ram Kishore
o i 2) Thakur Ram Singh
i P 3) Lala Murlidhar
:451; ;{ i e (4) Pt. Nekiram Sharma

(5) Not attempted

gr. frafeiiea & A R wfarn s v e vy o 2 2

: Mahal
g7. Which of the following is known as the Taj M
1) 3@ o = geEn

of Haryana ?
(2) iR g F1 wwa | (1)  Sheikh Chilli’s Tomb
_, (3) i@ wEd (2) Ibrahim Suri’s Tomb
! (4) T HEA (3) Sheesh Mahal

(5) I A& 21 9TEQ (4) Jal Mahal

(5) Not attempted
8. Pmfafiga & A g & 0 w9 = Fsagm gewi g

) 7@ T s 2 68. Which among the following folk.dance forms is
1) = not performed by men ?
(2) <argat | e
@ ® (2) Chaupaiyan
(3) Loor
@ (4) Daph

(5_} b Rl (5) Not attempted

. 69, iEq el e 9 wharn & Fefofes A @ 8 |0 py Lakhmi Chand was born in which of the

; nita § g3t ? n|/ following village of Haryana ?
(1) Sfiwer i (1) Jantikalan
(2) €@ (2) Sihi
(3) @@ (3) Mokhra
(4) &R . (4) Nahni
(5) I & 1 =& ' (5) Not attempted

70. gt ¥ fRm 7 yefoa S g aFET M aring |70 The fort of Asigarh situated in Hansi was built by

& foct ®1 Fwfvr fvw &t o gam 2 . Prithviraj Chauhan in which century ?
(1) 14 g (1) 14" century
(2) 1741 & , (2) 17*h century
(3) - 124 && . (3) 12" century
(4) 1541 & (4) 15" century
__ (5) 3 A & wed (5) Not attempted
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71, e & e T anemen o qa arfr 2 2
(1) w=F
(2) o
(3) UEds

(4) TH™
(5) I E A =TES

31 Rewn, 2017 % 7 famn o gyrw $ 7 BBY
Ao o @ sv R R 2

(1) Wt W FeE

() W e Qe

(3) wwErR . A

(4) el s=neh I

©(5) I A AT

73. whamn & feg ad werw @ @ (DBT) TS H

IR & ?
2014
2015
2011
4) 2013

(5) mﬁtﬂ%m?@

74. whamn # iy safes faseh 6 @ua af 2020 - 21 76
wg et B TE R 2
(1) 1200-45 =
(2) 154045 qf=
(3) 1000 3=
(4) 1805-45qf32
(5) IR TE 1 9TEA

76. &Ramn TsT s ¥ faeflr af 2022 - 23 F g we
%1 o wfawa gfre &7 4 =9 & fore Rvife f
™R ? '

(1) 62%

2 21%

(3 46%

4) 43%

(5) 3w ¢ g1 =R

72.

(1)
2)
&)

AMMADAICDIDana 18

71.

72.

73.

74.

75.

()

© (2

Which district in Haryana has the hlahgq

iiteracy rate 7

(1) Panchkula
(2) Kaithal

(3) Rohtak

(4) Gurugram
(5)° Not attempted

What is the full form of BBY schem® 1
December 31, 2017 in Haryana °
Bhavantar Bharpayee Yojana
Bharatiya Bima Yojana

Bagwani Bima Yojana

Bijali Bachao Yojana

.Not attempted

aunched o,

(1
(2)
(3)
(4)
(5)

In which year was the Direct Benefit Transfe;

(DBT) Scheme launched in Haryana ?
(1) 2014

(2) 2015

(3) 2011,

4) 2013

(5) Not attempted

What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?

(1) 1200-45 units

(2) 1540-45 units

(3) 1000 units

(4) 1805-45 units

Not attempted

What is the percentage of total expenditur
allocated towards Police in Haryana Stat
Budget for the financial year 2022 — 23 ?

(1) 62% '

21%

46%

4:3%

Not attempted

(3)
4)
(5)

-re h‘_.l__-:\_-—--———
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76, & F1 I TR ooy

—~
o)
—

i
£

g
3

76.

1.

- 78-

79.

’ st
Shori. Bazar i, Rohtak is H&rya_nas largee
Mmarket,

(1) Auto Spare Partg
(2) Wood
(3) Cloth,
(4) Grain

(6) Not attempteq

Who is the firgt Wrestler to win a Gold Medal in
Commonwealth Games in 1958 2

(1) Master Chandgi Ram
(2) Lila Ram Sangwan
(3) Sajjan Singh

(4) Pahalwap Udaychand
(5) Not attempted

Which of the- followi
Haryana received the Padma
field of Science and Engin
(1) . Moti La] Madan

(2) Raghuvendra Tanwar
()  Sumit Antjl

4)  Om Prakash Gandhi

personalities from
Shri in 2022 in the
eering ?

() Not attempted

Rani Lakshmj Bai Awarq in Haryana is awarded -
in which areg ? _ :

(1)  Science

(2)  Social Work

(3) Literature

4)  Sports

Not attempteqd -

(5)
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T

8l 1913 § TWH 3 Jmarery 35 ey mmtﬂ" i Jgﬁ:?:he first Indian to be appointed as the
w9 1 e 96 T 3 g o o tota7 o °f the Punjab High Court i
(1 e fére (1) Gopal Singh
@) mﬁ.ﬁ—q;ﬁ‘rg (2)  Alok Singh
@) W oW (3)  Sir Chhotu Ram
@ . w9 fiw ' (4) Dr. Sarup Singh
5) I 78 2 =T (6) Not attempted
82, RN T & e famy mﬁn 1 e %4 8 7 o g:::;n:::n g:n:ir;t e S
(1) 26 9, 1994 (1) 26 April, 1994
(2) 15 AR, 1994 (2) 15" October, 1994
(3) 27, 1994 (3) 274 June, 1994
(4) 317w, 1994 (4) | 31% May, 1994
(5) IO AR & =TEd ’

(5) Not attempted
83. qq.a;.nftﬁaﬁqmaia%émﬁﬁﬂ'ﬁ“ " 5|88. M.XK. Gandhi was arrested on which date from

o T, W 3 T we v i ) o @ Palwal railway station wlhile going to Punjab to
g7 . protest against the Rowlatt Act ?
(1) - 10 3%, 1919 | ' (1) 10 April, 1919
(2) 10334, 1918 : ' (2) 10% April, 1918
@ 10389, 1915 ' 3) 10t April, 1915
ol il | (4) 10 April, 1917
(5) IO Tl ¢ =R ‘
- g (5) Not attempted
84. &N & o ndgg F AR A AR ?
1w 84. What is the ancient name of district
@ St : | | (h;i;l_le;:::izrh in Haryana ?
%) ' (2) S
@ g - aty.evpuram
® T by et
: ~ (4) Sairishaka
os. e ) et s & o i § 7 | i) Dlstustmmagbed
St & ? 85. The Shivalik Hills are not found in which district
(1) IR of Haryana ?
2 R (1) Yamunanagar
(3) vEHAl (2) Sirsa
(4) e : (3) Panchkula
(5) I A & e (4) Ambala
R T (5) Not attempted " i
MARA/C2/Page 18 WY % .
e v SPACE FOR ROUGH WORK :

Download from www.MsEducationTv.com



™
zﬁlﬁqﬁiﬂ'ﬁ%“

A e/ § |
Rl & S
wm%il

Ay (D) TS ¥ -
(I 'ﬁhﬁt|
D) W 3y o

(1) Qﬁamﬁmmtu'Etl

2) %aalmzmﬁmt
3) ﬂaalamnﬁm“
@) % 11 Pravera &
B) I T 3 =y

87. WIWR§ ‘o T R o

(1) x

(2) -—

(3) +

(4) = )
(6) I adf 1 ==

. 88, P,Q,R,S,TﬁﬁﬁmﬂWI‘P‘Q’mgit,ﬁrg‘Q'
PR @ Rem@meRPamd,

87.

Some apples gre grapes,
All grapes are bananas,
Some plums are grapes.
Conelugiong - (I
(Im
(I1D)
(1) Only I11 follows
(2 Only I and 111 fop1ony
3) Onlyr and II fo]low
(4) Only 11 followsg
(6) Not attempted

Some bananas are plums.

Some apples are bananas,
All bananas are grapes..

‘What is the value of ‘e’ in thig pattern ?

XaL=9
PaH=2 -
LaF=29

1 x

2 -

@) +

4 =+

(5) Not attempted

P, Q; R, S, T went on a picnic. ‘P’ is the son of ‘Q’.
But ‘Q’ is not the father of ‘P’ ‘R’ is the son of ‘S’,

T,/ SR why | Wwho is the brother of ‘P, “T” is the wife of ‘S’.
PHF RAFM @R ? How is ‘P’ related to ‘R’ ?
(1) == (1) Uncle
2 fa (2) Father
(3) wden (3) Nephew
OB L (4) Brother
(5) o 7€ & =TEd (5) Not attempted
MARA/C2/Page 19
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wri“e“ as

g9, fih T T # XYZA 1 1234 3 EFGH #1(89. In a certain code language XY” 5 i o ritten
78910 & ¥ # foran s R, @ 3w g w1 A 1558 e EROET s 78010, How
AxGE®! ¥ feran smem 2 in that code language ?
R | ; C (1) 4917
N T (2) 4217
o (3) 4197
o (4) 4179
(5) I & = TE (5) Not attempted il _
. i friends Amita, Babita aﬁd ¢ received’
90. iﬁ#‘aﬁf&ﬂﬂﬁﬂ,iﬁhﬂaﬂtwwmﬂﬁﬂ|9& Three o ant, When the P Jid and
v fe faen @ o 3w g @ wd afw W Z:tares;dg,“muwasﬁabiwp
%ﬁmmmﬁmmﬁﬁﬁﬂﬂ%ﬁml ki 15 Chanchalpaid»lf"h
Babita paid 3 as much as it ”

; 3
wﬁfsso%ﬁawgrmmﬁmwt,fhaﬂﬂm ?360,thenwhﬂtist’he

ot e 1 sy o R 2 hill paid 18
(1') - 800 by Babita ?
S (1) ¥ 200
(2 T60 ' 2 %60
(3) %180 (3) ¥ 180
- (4) T 100 - (4) <100
(5) T AE &A1 AEd (5) Not attempted :

443 foq ¢ 2 3 ol 51 A s A AT T FH (91 Find out the word which cannof be formed by

o et ¥eg W1 TG I using the letters of the given word :
VERIFIED VERIFIED

(1) FRIED _ (1) FRIED
(2 FRIEND , (2 FRIEND
3) DEFER (3) DEFER q
(4) DRIVE : _ (4) DRIVE
(5) e T & e (5) Not attempted

02, fft wh g W1 § DFGHJ #' FHUL % w9 |62 In a certain code language DFGHJ is written as |
ﬁmmtlzmgmﬁwnnahﬁmm FHIJL. How is AUDIT written in that code
fergn wmom ? language ?
(1) CWFIU | (1) CWFIU
(2) CWPJV (2) CWPJV
(3) CWEJV (3) CWEJIV
(4) CWFKV (4) - CWFKV
(5) I A€ A @TEd (5) Not attempted
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wafem MWR;::" e forerds srgew vl (98, Select the combination of numbers_l-?o ';::1 ‘h:
o N T ez w1 T letters arranged accordingly W!
" OL g meaningful word :
® 8,46215 = ° © I
@) 6,4,3,2,5
(3 3,4,5,6,2 1
@ 6,4,3,1,2 5

(5) I T M ey

L B O E M
1 2 3 4 5 6

(1) 3,4,6,2,1,5
(2) 6,4,3,2,5,1
(3) 3,4,5,6,2,1
4) 6,4,3,1,2,5

_ (6) Not attempted
94. ﬁnﬁf@aﬁ%ﬁﬂnaﬁqﬂ‘%?
1) = wemmr : 94. Find the odd one out.
(2) " "R (1) Indian Ocean
(3) == ) T (2) Arabian Sea
@) ~.(3) Bay of Bengal
) Ter € . (4) Pacific Ocean

(6) Not attempted °

@H@ﬁmmwﬁﬁqﬁmﬁm@misﬁ.

Choose the correct option in which the words are
related in the same way as in the given pair of

TS : TEheA words : )
(1) war - o3 w=5mn Singer : Chorus
(2) g'a: B, (1) Artist — Ps}nnt
(2) Robbers — Loot
(3) 9S4 — TErgE ; _
- . (3) Flowers — Bouquet
(4) wfias - T :

:  (4) Musicians — Song
) FRAED (5) Not attempted

96. 0 wf fawew w1 ww Hifwe W A fu 7w F wow | 98-

Choose the correct option, which is related as
given :
ﬁ: I - 11:120::25:?
_ 11:120::25:? i i%k
el | @) 624
s ' (3) 250
e 5 g . 4 125
(4) 125 ' '
(5) Not attempted
(5) 3w A&l &A1 <Ed B
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A B,C,D,E¥RF

g 9k A B p; : :
917. w% a% i | T ; '-ﬁ *7;& El u‘le G, D, ? ?nd F are Sitting in 8 circle faCmg
gz ] ‘B a‘i ﬁm zm a"ﬁt ia.l % ?EI:lt-re. D 18 on the immediate ﬁght Of ‘B‘
aﬂ.{ ‘B’, R ﬁa)_{m 'qm qﬁf % | o ‘A' ﬂ (D! and B'is l'l‘Ut the immechate neighboul' of ‘F. ‘o
sdadadl PEang, oy veen A’ and D). Who are the neighbours of
(1) AWNB (1) AandB
2 C3MD 2 CandD
3 B3MD (3) BandD
4 AINE (4 AandE
(5) I A 2 9T (5) Not attempted
98, TF TN FHWUA W fu MU oftsm =51 A 9% T |98.  All the hard work done by you at your workpl'ace
wEarll, I I=E fm o @, 3 & frn | AT is hijacked by one of your colleagues: who is a
1 S ? good friend of yours. You will :
(1) ufem w0 Sl @, it qﬁﬂ'ﬂ. 1 it (1) continue hard work as hard work always
Hed AWV RAT R | . pays. s
(2) > ) =Y WG FQ T | (2) start praising about your work yourseil.
| (3) leave the job.
(3) A= BT
(4) criticise him in front of other colleagues.
wrafEl % e S w1 |
E:; :;l & aﬁ;ﬂtﬁ (5) Not attempted .
: 99. Find the value of p in the series :
99. 3@ J@en ¥ p FH HH 7 HfC : 1 lp'l_ g
’l’l'pliiL '3’9' ‘&1'243
3 9 81 243 1
1 Q) =
i 29
(1) 59 . ;
@) 515 @ 39
1
@) 21—7 @ o
1
(4) % “:
100. 2 Ry M RFedl § ¥ g9 @eN w1 w9 Hifyg |100. Choose the missing number from the given
frad gE FEen g 8 w9 options that will complete the number series :
55, 56, 58, 61, 65, __ 55, 56, 58, 61, 65, __
a 71 1 7N
(2). T2 . (2) 72
(3 70 (3) 70
(4) 69 (4) 69
(5) IR TE & ATEd (6) Not attempted
MARA/C2/Page 22 v #d & ot s space FoR RouGH woRk —

Download from www.MsEducationTv.com



